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Initialization
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Determine the 
indegree of each 
node

LIST is the set of 
nodes with indegree 
of 0.

“Next” will be the 
label of nodes in the 
topological order.
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST

1

1

2

4

5 3

6

7

8

7

5

2

6
3

next 0

1 2 3 5 7 8

2 2 3 1 1 0 2

Node

Indegree

LIST

7

1

1

0
5

2

1

6

0

4

210 4

6

3

01

2



Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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Select a node from LIST

Select a node from 
LIST and delete it.

next := next +1
order(i) := next;

update indegrees

update LIST
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List is empty.

The algorithm terminates with a 
topological order of the nodes
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The End


